Hard
Maister

SPRINT PLUS 3x4 PERGOLA TARASOWA

B
A ¢ o X2
B ¢ D X2
C s %2
D =7 X2
E < =7 X2
G < 7 X1
H x3
J = * X6
K = = X §

LB:I x4
M|=E|x4

Dach @ X 1

Pasek s — x1

Sciggajacy

Zas*ona 1’2m % x 2

Kurtyna 1,7m

X L—x8

M6x15 = x9
M6x15 0= x38
M6x30 O— x27
M6x35 O—— x1
M6x45 O—— x16
M6  © x18

Uszczelka @ X 19

Klucz imbusowy 4 mm f./
Klucz imbusowy 5 mm M

—










S
2;’_&; !é
1 > -
(@)
(@)
—=
/U
=







9 Kurtyna 1,7m

25
{

4

)i X //////////////// \\\
' iy 2 §
\\‘\\ Zastona 1,2m

78 .

|
|
|



http://www.tcpdf.org/

